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1. Mike and Sandy are two woodworkers who both make tables and chairs. In one month, Mike can make 4 tables or 20 chairs,
where Sandy can make 6 tables or 18 chairs. Given this, we know that

Mike has a comparative advantage in tables.

Sandy has an absolute advantage in chairs,

Mike has an absolute advantage in tables.

Sandy has a comparative advantage in tables,
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2. When demand is elastic in the current price range,
a.  an increase in price would increase total revenue because the decrease in quantity demanded is less than the increase

in price.

b.  anincrease in price would decrease total revenue because the decrease in quantity demanded is greater than the
increase in price.

¢.  adecrease in price would decrease total revenue because the increase in quantity demanded is smaller than the

decrease in price.
d.  adecrease in price would not affect the total revenue.

3. Suppose that the demand for picture frames is price inelastic and the supply of picture frames is price elastic. A tax of 31 per
frame levied on buyers of picture frames will increase the equilibrium price paid by buyers of picture frames by

a. $1. "

b.  more than $0.50 but less than $1.00.

c.  less than $0.50.

d It is impossible to say without more information.

4. Suppose that the equilibrium quantity in the market for widgets has been 200 per month. Then a tax of $5 per widget is
imposed on widgets. The price paid by buyers increases by $2 and the after-tax price received by sellers falls by $3. The
government is able to raise $750 per month in revenue from the tax. The deadweight loss from the tax is

a. 3250.
b $125.
[ $75.
d $50.

5. A profit-maximizing firm in a competitive market is currently producing 100 units of output, It has average revenue of $10, and
its average total cost is $8. It follows that the firm’s

a.  average total cost curve intersects the marginal cost curve at an output level of less thanl00 units.
b.  average variable cost curve intersects the marginal cost curve at an output level of less than 100
units.

c.  profitis $200.
d.  All of the above are correct.

6. For any firm, average total cost is minimized at a certain level of output; call that level of output Q1. For a monopolistically
competitive firm in long-run equilibrium, Q1
a. is also the level of output at which marginal cost equals average total cost.
b.  exceeds the level of output at which there is a point of tangency between the demand curve and
the average-total-cost curve.
c.  exceeds the level of output at which marginal revenue equals marginal cost.
d.  All of the above are correct.

7. Steph buys a designer dress produced by an American-owned fashion shop in France. As a result, U.S. consumption increases,
U.S. net exports

a.  decrease, U.S. GDP is unaffected, but U.S. GNP increases.

b decrease, U.S. GDP increases, but U.S. GNP is unaffected.

c. decrease, U.S. GNP increases, but French GDP is unaffected.

d.  are unaffected, U.S. GDP is unaffected, but French GDP increases.

8. In 1970 Professor Fellswoop made $12,000, in 1980 he earned $24,000, and in 1990 he earned $36,000. If the CPI was 40 in
1970, 60 in 1980, and 100 in 1990, then in terms of today’s dollars, Professor Fellswoop’s salary was highest in
a. 1970, and lowest in 1980,
b. 1990, and lowest in 1980. 1
& 1980, and lowest in 1970.

d. 1990, and Jowest in 1970, F ARG EP B

9. The minimum wage
a.  creates frictional unemployment. Firms paying wages above equilibrium to attract a better pool of candidates create
structural unemployment.
b.  creates structural unemployment. Firms paying wages above equilibrium to attract a better pool of candidates create
frictional unemployment.
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€. and firms paying wages above equilibrium to attract a better pool of candidates both create structural unemployment,
d. and firms paying wages above equilibrium to attract a better pool of candidates both create frictional unemployment.

10. If the economy unexpectedly went from inflation to deflation,
a. debtors and creditors would both have reduced real wealth
b debtors and creditors would both have increased real wealth
c.  debtors would gain at the expense of creditors
d creditors would gain at the expense of debtors g
11. A Japanese firm buys lumber (rom the United States and pays for it with yen. Other things the same, Japanese
a,  netexports increase, and U.S. net capital outflow increases.
b net exports increase, and U.S. net capital outflow decreases.
c.  net exports decrease, and U.S. net capital outflow increases.
d net exports decrease, and U.S. net capital outflow decreases.

12. If a government increases its budget deficit, then the real exchange rate
a.  and domestic investment rise.
b and domestic investment fall.
c.  rises and domestic investment falls.
d falls and domestic investment :’scs.

13. An increase in the price level induces people to hold

less money, so they lend less, and the interest rate rises.
less money, so they lend more, and the interest rate falls.
more money, so they lend more, and the interest rate falls.
more money, so they lend less, and the interest rate rises.
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14. The sticky wage theory of the short-run aggregate supply curve says that when prices fall unexpectedly, the real wage
a. rises, so employment rises,
b rises, so employment falls.
. ¢.  falls, so employment rises.
d falls, so employment falls.

15. Open-market purchases
a.  increase the price level and real GDP.
b decrease the price level and real GDP.
c. increases the price level and decreases real GDP.
d.  decreases the price level and increases real GDP.
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